Money

Worksheet-3

A] Add

1. %432.22 and X 147.65

2. 386.57 and X 52.66
3.3132.45,3623.32 and X
4,3%3520and X 5.25

B] Solve

1. Multiply X 24 by 5

2. Multiply X 9.52 by 5
3. Multiply X15.12 by 12
4. Divide 335 by 7

5. DivideR 56.36 by 2

C]Fill in the blanks
. Rs. 1285 is equal to

28.47

paise.

. Rs. 2452.25 is equal to

paise.

1

2

3. Rs. 9890.55 is equal to
4. 87586 paise is equal to
5. 240000 paise is equal to
6. 157590 paise is equal to

D]Solve the following

1. Kamath gave Rs3248.25 to

rupees and

rupees.
rupees.
rupees and

Suman, Rs1298.25 to Mahesh and

1196.50 to Raman. The amount of Rs 2438 is still left with him. How

much did he have?

2. Bhupati bought a coat for Rs 738.50, a shirt for Rs 238.50 and 3
pens costing Rs 97 each. How much did he spend?




3. Vyomesh purchased a coat for Rs1368.50 and a shirt Rs 839.50. He
also purchased a saree for his mother which cost him Rs 369 more
than the sum of the cost of the coat and the shirt. What was the cost of
the saree?

4. Praveen purchased 3 pens at the rate of Rs 14 each, 6 books at the
rate of Rs 64 each, 7 maps at the rate of Rs 8 each and 9 notebooks at
the rate of Rs 7 each. Make a bill for the purchases.

5. Akhil bought 3 kg of apples at the rate of Rs 35 per kg, 3 kg of
guava at the rate of Rs16 per kg, 5 kg of grapes at the rate of Rs 40
per kg and 7 kg of oranges at the rate of Rs 25 per kg. Make a bill for
the purchases.




